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Romantische Pfade Hohenste

GC81ZZH

in



S1 |N50°12.780 E010° 55.838 A=

S2 |N50°12.702 E010° 55.752 B=

S3 | N50° 12.485 E010° 55.602 C=

S4 |N50° 12.455 E010° 55.764 D=

S5 |N50°12.214 E010° 56.189 E=

S6 |N50°12.220 E010° 56.516 F=

S7 |N50°12.453 E010° 56.318 G=

S8 |N50° 12.601 E010° 56.212 H= T O

S9 | N50° 12.699 E010° 56.257 = & 3 @
$10 | N50° 12.750 E010° 56.312 )= Querkelseinieg SRR -
S11 | N50° 12.809 E010° 56.115 K= X TR AR
S12 | N50° 12.653 E010° 55.888 =

S13 | N50° 12.604 E010° 55.772 M=

S14 | N50° 12.677 E010° 55.849 N=

Final: N1x.xxx E5y.yyy
X.XxXx=(A+C+E+G+I+K+M):1000
v.yyy=(B+D+F+H+J+L+N):1000

Romantische Pfade Hohenstein GC81ZZH




